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33T ECON
2023
ECONOMICS
Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin indicate full marks

for the questions.

PART-A (¥ -9uM)
Q. No. 1 (i=-wvi) carries 1 mark each 1x6 = 6
Q. Nos. 2 (i-vi) carries 2 marks ench . 2%x6 =12
Q. Nos. 3 - 6 carry 4 marks each - 4x4 =16
Q. No. 7 carries 6 marks 6x1 = 6
Total = 40

PART-B (X -G)
Q. No. 8 (i-vi) carries 1 mark each 1x6= 6
Q. Nos. 9 (i-wvi) carries 2 marks each 2x6 =12
Q. Nos. 10 - 13 carry 4 marks each 4x4 =16
Q. No. 14 carries 6 marks 6x1= 6
Total = 40

Total (PART A & B): 40+40=80
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PART-A /3-5e4,
1x6=6

1. Answer the following :

©e
(1)

(i1)

(i)

Ty Oed fudll ¢

Define personal disposable income.

Ifests Al NESRC fran

What is the primary objective of commercial bank ?

ffene (@ Al S e

Net indirect taxes are estimated as —

- el AR R TR —

(iv)

(v)

(v1)

33T ECON

(n) Indirect taxes + Subsidies
AF I + AYY

(b) Subsidies - Indirect taxes
R} - AT I

() Indirect taxes - Subsidies
AT I - AYY

(d) Both (b) and (c)

(b) B (c) T |
(Choose the correct option)

(s% P8 k51T 79

Give two examples of capital expenditure of the government budget.

5K ACEDT T AR 75 T frmtl
What type of budget should the government prepare during inflation ! ?
U4 TS BIIA (FALEN LT AFS ofq ANA 2

In order to encourage investment in the economy, the central bank will
adopt which of the following measures ?

e R BeAfze FR A ﬁé’m QRE T @smfﬁ‘tvﬁcww
9
() Increase cash reserve ratio
9% LT T Jfa P
() Reduce cash reserve ratio

W AT ST ZH A

[2]



{c) Increase bank rate

@23 4 Y T
(1) None of the above
GoEg AbTe T .
: (Choose the correct option)
(5% [ {619 340)
2x6=12

2. Answer the following :
S ST Ted ¢

(i)  Afirm produces goods of Rs.500 per year and uses intermediate goods
of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
gross value addition and net value addition by the firm.

Q3 AfSHIA IR 500 B T2 Tesfwn A S ZAE AR 250 T T
TS 5 IR (A | A IR S ARl 20 5 2, meﬁmm
5 Y A W ST T e 9(e 4
OR /@241

What do you understand by the problem of double counting in the
context of national income accounting ?

TSI ST S1RI4 &R01 (70 SiomR ATt 3feic & 33 2

(ii)  Calculate national income with the following data.
e YA YIS TSI S 41971 41 |

GDP at market price : Rs.830 crore
TR w&® GDP : Rs.830 @b

Depreciation : Rs.120 crore
SR ¢ Rs.120 @1fo

Net indirect taxes : Rs.70 crore
[Fab siars 31 2 Rs.70 @

Net factor income from abroad : Rs.40 crore
faomia st b Seoma @i ¢ Rs 40 @il
OR /94!

Ditferentiate between nominal GDP and real GDP.
I8 GDP &% 937 GDP 9 5i1<f3 &t |
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(1) Write hwo objectives of government budget.
SaId) AGHA 757 S i | .
(i) Write two differences between revenue expenditure and capital
expenditure.
3I%TZ A W LA A 707 ANe@ forar
OR/S9qY
What is revenue receipt ? How it is different from capital receipt ?

3rerz Al & 2 3 @4 <A1 okl (I o2

(v)  What is deficit demand ? Write one cause of deficit demand.

Ao/ 9ifS vifedt &2 3aR @by FRATEL A
OR /999!
What are the factors that affect investment demand in an economy ?

TSR Rt sifenrs eeiie 741 35 (@20l 1 2
(vi) Write two merits of fixed exchange rate.

fz= R geq gy AR &
OR/q43t
Define spot and forward exchange rate.

fiffmr Ticwlds g1 ok 9] 299 sewm T

3. Explain the expenditure method of calculating national income.
GISTT S 1A 7 ARIGCo! A1 3 |
OR /93!

Discuss the circular flow of national income in a two sector economy.

fade HNIfoT GIoIT WHT 5T=e AT Wb 341 |

4.  Discuss the functions of money.

TER SR ST 41

5. There is a plan to increase national income from Rs.1500 crore to Rs.4000
crore. If MPC = 0.6, then what should be the change in investment to achieve

the goal ? ' 4
G2fTfe G Gre R S Rs.1500 (316 53R 141 Rs.4000 (1% 5aitat 3@ 9

AT T4 (R WE MPC = 0.6 T, (% 2 FTHS GAqI® 239 I [T
iR gn Al eraem 92
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OR /&7t

What is ma "ginal propensity to consume (MPC) and marginal propensity to
Save (MPS) ? Show that MPC+ MPS=1 141+2=4

TSI AATE (MPC) wire iifiss ey ezens) (MPS) &2 year ca

MPC+MPs=1
6.  Outline how cquilibrium exchange rate is determined in free market system,
4
WWﬂmWﬁﬁwmﬁﬁm AFAITO! HajTas forat
| OR /&<
Write a note on ‘balance of payment’.
AIRCNER o1 Razm o (BT oy |
7. Discuss the working of investment multiplier with example. 6
Fatereaey SRR e TwimrenTg SEs 2 |
. OR /593
- Explain diagrammatically how equilibrium level of employment and income
s determined in a two sector economy with the concept of aggregate demand
and aggregate supply.

o AL 1A S A SN 4N A @A ST S
mﬁmmmﬁ@wﬁaﬂﬁmwws

PART-B / 4-51o
8.  Answer the following : 1x6=6
ST AR T o ¢
()  What is poverty line ?
wifeE M e
(i) Name any fwo Navaratna industries.
Rz 751 ey Sraiera el |

(1) Who is known as the architect of economic planning in India ?

RO GfAET A e 31 s om A 2
(iv) What do you understand by jobless growth ?

freasifagin Smm 3feie & e
(v)  Name fwo unconventional sources of energy.
“Ifea 707 SoiTeR1eIe Tesa A B |
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(vi) Which of the following is a cause of ozone layer depletion ?
OHR (PO WG F HAL €51 A 2

(@) Noise pollution / *i% 279
(b) Air pollution / 3 =va«
(c) Water pollution / @& &34
(d) None of the above / €791 i I
(Choose the correct option)

(o7 [Few [e19 391)

9.  Answer the following : : 2x6=12

OO PR O i

(i)  Write two objectives behind infrastructure development in India by the
British government during Colonial rule.
il * i 2T RibE badia Sreata amsshaf rmm a9’ 757 $ra D
feran

(i) Write two objectives of NITI Aayog.
NITI RGN 757 Sy i |

OR/=44qY

Write fwo factors that necessitates the introduction of economic reform
in India.

OiReIHT FLAEE FHITT AT ToIR 707 Fiaet foadi |
(1ii) Correctly match the two sides of the following table :

TR ORI YA SR SR(E el 8
Country Rank Based on Human Development Index 2022
o 2022 574 TR T paIes fefes T

India/ e 79

* China/bW 129
Pakistan / AEH 132
Bangladesh/RFT™ 161

(iv) Write the full from of AYUSH.
AYUSH 3 7= @i feiat|
- OR/S41

What do you understand by medical tourism ?
‘Bt 1o e &g
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10.

11.

12.

13.

14.

(v)  Writeone positiv o _
econom).-‘p ¢andorne negative impact of globalisation in the Indian

Ww%ﬁwmﬂﬁrwwmﬁbfatmmﬁw

pi it :
. (v)  Write to differences between formal and informal sources of rural

credit.

A AT AT 0 i Beom 7B siief fya |

Write the features of the Industri '
1al Policy, 1956. 4
1956 519 BT Sifeq (T

Briefly discuss the roblems f : : :
reform period. p S faced by the Indian agriculture sector in pre-

m‘ﬂﬁﬁmw?ﬁwiwﬂn (R ATFPYZ FCHLA S =41 |

Discuss four important Causes of poverty in India. 4
SIS WREOR 51307 325 et e Sl
Write a note On condition of health infrastructure in India. 4
RO TG S wmge R o G B

OR/@2q -
What is workforce ? Wrrite the causes of low workforce participation rate of
female as compared to male. 1+3=4

W%?Wwwwmmﬂwmﬁﬂ (2RI R foran |

Write a comparative note on the contribution of agriculture, industry and
SEIVICe sectors to the respective economies of India, China and Pakistan, 4

OIS, 51 W% 2@ wLRifse (TR IR, TTA1el e (1 DS SR
JREf1a 9B eI (Bt evge 1|

OR/9%4r
Briefly describe the path of economic development of China.

b1 WA Taa sifeeie Ry syte 2o =41 |

How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India? 3+3=6

AT AR QIS TR TATR 4Rl (R 1o et 4@t 22 Slaws AW e

TSR AL AT o7l | |
| OR /943t
Discuss how agricultural activities can be diversified.

Pl e fomydl/ Rivasd sRa =R s =1
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